ESTIMATE					
COMPANY NAME	MRGV	APPROVED BY			
PROJECT	BRGV	SIGN:			
WORK DISCRIPTION	Civil work				
PREPARED BY	SYED GOLAM SARWAR				
DATE	14-06-2024	1			
CONTRACTOR NAME	Ramratan yadav				
		Α		В	AXB
SL NO ITEM HEAD	ITEM DISCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1 Main entracne +road + hight parking	Curing bunds	4,236.00	sft	0.5	2,118.00
2 Concrete laying	New parking raising height	150.00	sft	5	750.00
3 Kalai finishing	kalai finishing at parking	230.00	sft	14	3,220.00
4 Lift buffer bed	Shuttering and concreting of buffer bed	192.00	sft	40	7,689.00
5 Bickwork	Brick work and plastering at tranformer yard for cable trench	40.00	sft	13	520.00
6 Plastering	Plastering and plastering at tranformer yard for cable trench	40.00	sft	13	520.00
				Total	14,808.00

MEASUREMENT SH	IEET			-				
COMPANY NAME		MRGV			APPR	OVED BY		
PROJECT		BRGV				SIGN:		
WORK DISCRIPTION	· ·	Civil work						
PREPARED BY		SYED GOLAM SARWAR						
DATE		14-06-2024						
CONTRACTOR NAM	1E	Ramratan yadav						
			Α	В	C	D	E=AxBxCxD	F
SL NO	ITEM HEAD	ITEM DISCRIPTION	LENGTH	WIDTH	HEIGHT	NOS	QUANTITY	UNIT
1 Main en	ntracne +road + hight parking	Curing bunds	36	19	1	1	684.00	sft
			48	19	1	1	912.00	sft
			30	62	1	1	1,860.00	sft
			22	15	1	1	330.00	sft
			10	15	1	3	450.00	sft
						Total	4,236.00	sft
2 Concret	te laying	New parking raising height	10	15	1	1	150.00	sft
3 Kalai fin	nishing	kalai finishing at parking	10	15	1	1	150.00	sft
		kalai finishing at temple entrance	20	4	1	1	80.00	sft
						Total	230.00	sft
4 Lift buff	fer bed	Shuttering and concreting of buffer bed	6	4	4	2	192.00	sft
5 Bickwo	rk	Brick work and plastering at tranformer yard for cable trench	40	1	1	1	40.00	sft
6 Plasteri		Plastering and plastering at tranformer yard for cable trench		1	1			
O Flasteri	iiig	riastering and plastering at transormer yard for cable trench	40	1	1	1	40.00	sft

Allowance For Consumables Ramratan yadav

MUHARPALLY Hyderabad

Date 14-06-2024

In favor of:	MRGV
Project/Site:	BRGV

Location: YANAKA PALLY

Type of Work: Civil work

Towards: Allowance For Consumables

S.No.	Discription	Amount
1	Breif discription of work done: Towards doing civil work	
		2,961.60
	Total amount: 14,808.00	

Amount in Word: Four thousand sevemty one rupees only/-

Sign:	
_	_

Allowance For Equipment Ramratan yadav MUHARPALLY Hyderabad

Date 14-06-2024

In favor of:	MRGV
Project/Site:	BRGV

Location: MUHARPALLY

Type of Work: Civil work

Towards: Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing civil wor	k
			5,923.20
		44.000.00	
	Total amount:	14,808.00	

Amount in Word: Eight thousands one hundred fourty three rupees only/-

Sign:

Labour Charges Ramratan yadav MUHARPALLY Hyderabad

Date 14-06-2024

In favor of:	MRGV
Project/Site:	BRGV
Location:	MUHARPALLY

Type of Work:

Civil work

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing civil work	
			E 022 20
			5,923.20
	Total amount:	14,808.00	

Amount in Word: Eight thousands one hundred fourty three rupees only/-

Sign:	
Jigii.	

Company	MRGV	Name of contractor	Ramratan yadav		SI. No. site	bills reg	355	
Project/site	BRGV	Nature of work	Civil work		Dt. site bills	s reg.	17/06/24	
Block no	A	Work done from date		12-05-2024	M-codex bi	II ID		
WO no.	NA	Work done to date		14-06-2024	WO issued	?	VO	
WO date	NA	Contractor bill no.	Contractor bill no. GST		GST bill re	quired?	VO	
Sl. No.	Unit/floor no	Details of w	ork ork	Qty	Units	Rate ID	Rate	Amount
1	Main entracne +road - hight parking	Curing bunds		4236.000	sft	RCC219	0.5	2,118 00
2	Concrete laying	New parking raising height		150.000	sft	CW158	5	750.00
3	Kalai finishing	kalai finishing at parking		230.000	sft	CW134	14	3,220 00
	Lift buffer bed	Shuttering and concreting of bu	iffer bed	192.000	sft	RCC101	40	7,680.00
4	Rickshork	Brick work and plastering at tra	anformer yard for	40.000	sft	CW125	13	520.00
5	Plastering	Plastering and plastering at trantrench	nformer yard for cable	40.000	sft	CW131	13	520.00
6								
7								
8								
9								
10						-		
							Total	14,808.00
						Add GST @	0.00%	0.00
				Tota	d amount in	cluding taxes fo	r work done	14,808.00
Remarks	DESCRIPTION DESCRIPTION AT TRANSFORM	er yard for cable trench						
	project manager	Approved by QS team			Approved b	y Director/E&D	team	
Sign:	1 7 UIN 2024	Sign:	Sign: Sign:					
Date O	Date: Date:							
Notes: 1 This position of the entered above 5. Soham, Anand M.	SYED GOLAM SARWAR STEPHOLICET MANAGER and advice for credit to FOR SOME MILE LID than 10s QS manager and dire letta (for GHT - GMR). Sachin (for Vivopolis), B. an nd scanned copy of bill to site and QS by email. 11. Co	ectors approval is required, 6. For bill amou and Kumar (for NGH + NRK), 8. Entry of	int less than 10k any QS team mo Frate ID is mandatory. 9. This sh	ember may sign and in place o	f director sign cl	respective E&D memb	per to be taken 7 Dr	rector include -